EANRAROESIERT —

ZN—ABISH—F

20178108158 (H) 12E1A%5H

mtgt (b EHOEEE C2 H7%3K L ‘ [X%&] ™ ‘ (] — | & (%) 14000 R
[AE4£] 1% :230,000” ~ 2#%:53,000” ~ 3#%&:21,000 ™ . 43%&:12,000 M 53 :7,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S xs_ 4 5 | WO 1:31.0 1-1-1-1 | 38.8| — 3 497 | FBBF (EH)
1/5|6|~¥3= B ¥¢53.0 (-) (+3) HEHE
R:Gr7—3IUT7> BYL ST R E
5 . 4 3 | WO 1:31.6 2-2-2-2 [39.2| — 1 462 | ALAIRRAEL (1£29)
oy 7| NI 56.0 ) wg |8 % 1R
X LIARZN By Tl b HET7— L
. i 5 | REEZ 1:31.9 10-9-9-6 [38.7| — 2 455 | IUEFEAN (£H)
31719 I/U’T 56.0 (11/2) +1) REETT
L:707% B:O-H3Z J—HrTr—L
LS4 3 # 5 | SHIEA 1:32.4 3-3-3-3 [39.8| — 4 469 | HEE (£H)
417110 FOdU3IFH 54.0 2 1/2) () SE
LA TEAT B:FLIITIRY b e
LS s 5 | AllESY 1:32.7 8-8-7-7 [39.5| — 10 494 | AIEX (1£E)
5/5/5|YyaATZANE (1'1/2) +3) R B el o
R:T77NTIT B:TLrTAT1RAR "HET77— L4
N o BERE—BB :32. —7-8- . — JIIBZ4F (£8)
6 4| BEHN—Ly K it 4 5] (173&277) 7-7-8-9 | 39.5 9 (4_138) i i
RV TATYL LR BELTH=Z— A B
N — BERD : —5-5-. - FEBF (£H)
71|12l 255251 b SN Ge | T 00 * | e |EEEE
LNNVTSY BT T4 BHHE
S A 3 £ 1:32.9 6-6-6-8 |39.9| — 7 468 | WWEZEA (1£H8)
sEl3| ¥Vl 56.0 (1/2) (g | ) AR
RFATATv— B—Va7-) J—H T — L
N > FIRAFIR :33. —-12-12- . — FlllEE (1£8)
9 g| /=¥ nuF 27 fun 1(333)5 12-12-12-12| 39.3 8 (4_561) = %@
L:d—IRAqrO— B:57YU-~N D B
9 4 7 | BHREA 1:33.6 9-11-11-11 [ 39.5 | — 12 | 443 |BIEX (#£E)
10/ 8|11 NFTETA— 54.0 (1/9) s | (B J PN
RN—=IFITya BATIXHIL WE T
_ _ Mt . 10-10- - SRRt ((£2)
il ovrste—3 i3 o 173?:? 11-10-10-10/ 40.0 1 <4+757) e "
L:2=/xXLLy b BihARFTTI— mit ik
— — s : 44— — THiERE (E8)
1 0| PAFAT )l/l/T»r 4 3 o (17.3;% 4-4-4-5 | 40.8 6 12;6 Zt‘%]lll——lﬁ
L:Jdr7—3VT7> BT ATITAL PaE b e
@ 1—F—@&BIEf
13=7r= 6,7,10,2,12,3,4,5,11,9,1,8
20—7— 6,7,10,2,12,3,4,5,9,1,11,8
G§a=7r= 6,7,10,2,12,3,5,4,9,1,11,8
43—+ — 6,7,10,12,2,9,5,3,4,1,11,8
[ RN
B OB 6 650 714K 6-7 190H e & 5-6 560M &R 6-7-9 620M
8 B 6 1704 6-9 390M B E 6-7 370 JEH 6-7-9 6,910
7 1004 7-9 180M B H 6-7 1,100M
9 1209
ABICOVWTRHDTERERRODLDE, THERLE,




